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Total Marks: 1

Question # 7 of 10 ( Start time: 03:19:42 PM, 15 November 2016 )
A geographically defined area where buyers and sellers interact to determine the price of a product s called:

Select correct option

Stadium

Club

Bank

Markel

here to Save Answer & Move to Next Question
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Question # 8 of 10 ( Start time: 03:20:37 PM, 15 November 2016 ) Total Marks: 1

‘Which of the following best describes the human capital?

Select correct option

The knowledge and skills acquired by a worker through education and experience:

The effort to coordinate the production and sale of goods and services

Al the machines, buildings, equipment, roads and other objects made by human beings to produce goods and services.

The things created by acts of nature such as land, water, mineral, oil and gas deposits, renewable and non-renewable resources.
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Question # 9 of 10 ( Start time: 03:21:31 PM, 15 November 2016 ) Total Marks: 1
When the two goods are perfect substitutes to each other then the marginal rate of substitution for them will be:

Select correct option

Zero

Constant

Positive.

Negative.

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 03:14 PM, 15 November 2016
Total Marks: 1

Question # 10 of 10 ( Start time: 03:23:09 PM, 15 November 2016 )

Income elasticity of demand for a normal good is always:

Select correct option

Negalive.

Betwoen 0.and 1

Between 1and2.

Greater than 1

Click here to Save Answer & Move to Next Question
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ECO0402:Quiz # 01
Question # 1 of 10 ( Start time: 03:14:07 PM, 15 November 2016 )
Cross- price elasticity of demand for the substitute goods will always be:

Select correct option

Zero.

Infinity’

Negative.

Positive.

Click here to Save Answer & Move to Next Question
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ECO402:Quiz # 01
Question # 2 of 10 ( Start time: 03:14:54 PM, 15 November 2016 ) Total Marks: 1
Amount of total money spent on a good having price "P* and quaniity "Q" can be oblained by which of the following?

Select correct option

PQ

EC)

=)

Click here to Save Answer & Move to Next Question
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ECO402:Quiz # 01
Total Marks: 1

Question # 3 of 10 ( Start time: 03:16:10 PM, 15 November 2016 )
A consumer prefers butter of company A o butter of company B. He also prefers company Bs buter to company C's butter. Therefore, A's bulter s preferred to C's buter. This situation is explained in the consumer behavior assumption of

Select correct option

Rationaiiy.

Transivity.

Completeness.

Diminishing MRS,

Click here to Save Answer & Move to Next Question
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Total Marks: 1

Question # 4 of 10 ( Start time: 03:16:51 PM, 15 November 2016 )
Which of the following is 2 positive statement?

Select correct option

[When the price of a good goes up, consumers buy less of i

[When the price of a good goes up., firms produce more of i

[When the Federal goverment sells bonds, inferest rates fise and pivate investment i reduced.

[All of the given options.

Click here to Save Answer & Move to Next Question
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Quiz Start Time: 03:14 PM, 15 November 2016
Total Marks: 1

Question # 5 of 10 ( Start time: 03:17:48 PM, 15 November 2016 )
Asiam consumes more of a good due to increase in his income. For Aslam, this good is categorized as:

Select correct option

Nomal

Public

Giffen

Inferior
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Quiz Start Time: 03:14 PM, 15 November 2016
Total Marks: 1

Question # 6 of 10 ( Start time: 03:18:32 PM, 15 November 2016 )
“The indifference curve forleft shoe and right shoe will be:

Select correct option

Upward sloping,

Negatively sloped straight ine

Lshaped

[Verticle
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